Gruppen-Spielplan
Kreisendranglisten 2013
des TT-Kreises Hochtaunus
Klasse: Schiler A Gruppe: 1

Pos | Spieler Verenf 1 (23| 4|5|6|7(8|9]10|11|12|Sp.| Sp. Satze Bélle Pl
1 |Jeske, Oliver TTC Kénigstein 32 30|0:3(1:3(0:3(0:3(0:3/0:3(1:3/0:3]| 9 27 8:23 247:331 10.
2 | Mitterle, Johannes TSG Wehrheim | 2:3 0:3]3:2(0:3[0:3|2:3(3:1|2:3(0:3|{0:3|1:3[ 9 27 11:24 299:344 9.
3 | Gonzalez, Leonard SG Anspach 30 1:313:0|3:0(30|2:3 0 0.0 0:0 0.0 n.
4 , Felix TTC Ober-Erlenbach | 0:3 | 2:3 0:3|30(3:1)2:3(30(0:3|32(03] 9 36 13:20 267:314 Us
5 | Morozov, Henry TSG Usingen| 3:0 | 3:0 30 3:1(30(3:0(30|1:3(30|31| 9| &1 25:5 318202 | 2.
6 | Albrecht, Jona TTC Bad Homburg( 3:1|3:0 | 3:1| 0:3 | 1:3 32|1:3(30|03|31]|2:3(9 45 16:17 306:308 4.
7 | Tkalitsch, Daniel TTC Bad Homburg| 3:0 | 3:2 | 0:3 | 1:3| 0:3 | 2:3 30 03|03| 0| 00 0:0 0:0 n.
8 |Koch, Fynn TTC Kronberg [ 3:0 | 1:3 | 0:3 | 3:2 | 0:3 [ 3:1] 0:3 31[0:3|1:3|03| 9 45 14:19 247:295 5.
9 | Schieler, Maurice TTC Ober-Erlenbach( 3:0 | 3:2 | 0:3| 0:3 | 0:3 [ 0:3 13 0:3(32|1:3| 9 36 11:22 268:320 8.
10 [Tillmann, Noah SG Anspach|3:03:0(3:2|3:0|31]30 30|30 30(30( 9 9:0 27:1 308:165 1.
11 [Schlinz, Aaron TTC Konigstein| 3:1 | 3:0 2:3(03[1:3|30(31|2:3|0:3 03| 9 36 14:20 286:334 6.
12 | Djafari, Keywan TTC Kénigstein | 3:0 | 3:1 3:0(1:3(32]|30(30]|31|0:3]3:0 9 72 22:10 317:250 3.
1. Runde:
1 Jeske, Oliver - Djafari, Keywan
2 Mitterle, Johannes - Schliinz, Aaron
3  Gonzalez, Leonard - Tillmann, Noah
4 Wenigmann, Felix - Schieler, Maurice
5 Morozov, Henry - Koch, Fynn
6 Albrecht, Jona - Tkalitsch, Daniel
2. Runde
Jeske, Oliver - Schltinz, Aaron
2 Mitterle, Johannes - Tillmann, Noah
3 Gonzalez, Leonard - Schieler, Maurice (3 o) +7, +s‘+3)
4 Wenigmann, Felix - Koch, Fynn 0:1(2:3) -7,+4,-6,+9,-4)
5 Morozov, Henry - Tkalitsch, Daniel 1:0 (3:0) +5,+7,47)
6  Albrecht, Jona - Djafari, Keywan 0:1 (2:3) +9,-8,+11,-8,-4)
3. Runde:
1 Jeske, Oliver - Tillmann, Noah
2 Mitterle, Johannes - Schieler, Maurice
3 Gonzalez, Leonard - Koch, Fynn
4 Wenigmann, Felix - Tkalitsch, Daniel
5 Morozov, Henry - Albrecht, Jona
6  schliinz, Aaron - Djafari, Keywan
4. Runde
Jeske, Oliver - Schieler, Maurice 0:1 (0:3) -3,-7,-11)
2 Mitterle, Johannes - Koch, Fynn 1:0 (3:1) -7,+6,+7,+5)
3 Gonzalez, Leonard - Tkalitsch, Daniel (3:0) +6,+7,45)
4 Wenigmann, Felix - Albrecht, Jona (3:0) +9,+9,+9)
5 Morozov, Henry - Djafari, Keywan 1:0 (3:1) -9,+6,+4,+6)
6  Tillmann, Noah - Schliing, Aaron 1:0 (3:0) +5,+5,48)
5. Runde:
1 Jeske, Oliver - Koch, Fynn 0:1 (0:3) -8,-5,-11)
2 Miterle, Johannes - Tkalitsch, Daniel (2:3) -9,+10,+10,-1,-7,
3 Gonzalez, Leonard - Albrecht, Jona 0:1(1:3) +7,-9,-6,-6)
4 Wenigmann, Felix - Morozov, Henry :
5 Schieler, Maurice - Schltinz, Aaron
6  Tillmann, Noah - Djafari, Keywan
6. Runde
Jeske, Oliver - Tkalitsch, Daniel
2 Mitterle, Johannes - Albrecht, Jona
3 Gonzalez, Leonard - Morozov, Henry
4 Wenigmann, Felix - Djafari, Keywan
5 Koch, Fynn - Schliing, Aaron
6  Schieler, Maurice - Tillmann, Noah




7. Runde
Jeske, Oliver
2 Mitterle, Johannes
3  Gonzalez, Leonard
4 Tkalitsch, Daniel
5 Koch, Fynn
6  Schieler, Maurice

8. Runde:
1 Jeske, Oliver

2 Mitterle, Johannes

3 Gonzalez, Leonard

4 Albrecht, Jona

5 Tkalitsch, Daniel

6  Koch, Fynn

9. Runde
Jeske, Oliver
2 Mitterle, Johannes
3 Morozov, Henry
4 Albrecht, Jona
5  Tkalitsch, Daniel
6  Koch, Fynn

10. Runde

Jeske, Oliver
Mitterle, Johannes
Wenigmann, Felix
Morozov, Henry
Albrecht, Jona
Tkalitsch, Daniel

U s wN R

=

. Runde

Jeske, Oliver
Gonzalez, Leonard
Wenigmann, Felix
Morozov, Henry
Albrecht, Jona
Tkalitsch, Daniel

cuswN R

- Albrecht, Jona

- Morozov, Henry

- Wenigmann, Felix
- Schliinz, Aaron

- Tillmann, Noah

- Djafari, Keywan

- Morozov, Henry
- Wenigmann, Felix
- Djafari, Keywan
- Schitinz, Aaron
- Tillmann, Noah
- Schieler, Maurice

- Wenigmann, Felix
- Gonzalez, Leonard
- Schliinz, Aaron

- Tillmann, Noah

- Schieler, Maurice
- Djafari, Keywan

- Gonzalez, Leonard
- Djafari, Keywan

- Schitinz, Aaron

- Tillmann, Noah

- Schieler, Maurice
- Koch, Fynn

- Mitterle, Johannes
- Schliinz, Aaron

- Tillmann, Noah

- Schieler, Maurice
- Koch, Fynn

- Djafari, Keywan

01(13) -8,-8,+13,7)

(3:1) +7,-10,+6,+6)

= ()
10 (311) +5,+4,-3,48)

1.0 (3:0) +4,47,+8)
0:3) -
3:0) +6,+6,+7)
0:3) 4:-4.6)

0:1

10 (3:0) +7,+6.+4)

0 (3:2) +10,-2,-11,+9,+9

-4)
(30) +7,43, +4)
0:1 (1:3) -4,45,-7,

.1)



